AN EXTHE  ERIFMLBTE -
1. (20%) A simple structure consisting of two straight bars each with an area ot ] in” as shown the
following figure, determine the stress (o) for each bar.
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2. (30%) The gears of a shaft are acted upon by the torques as shown in the following figure.
Determine the maximum shear stress of location T ag, Tnc Tep.
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3.(30%) A cantilever beam AB of length L supports a uniform load of intensity q. Analyze this
beam by solving the second-order differential equation of the deflection curve. Determine the
reactions (R, and Rp), shear forces (V), bending moments (M), slopes (v’) and deflections of the

beam (v).
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